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General Instructions :

Read the following instructions carefully and follow them :

(i)
(i1)
(iii)
(iv)

(v)
(vi)
(vit)
(viit)

(ix)

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options. Candidates have to attempt only one of the given
options.

Option I: Analysis of Financial Statements

Option II : Computerised Accounting

Questions number 1 to 16 (Part A) and Questions number 27 to 30 (Part B) are
multiple choice questions. Each question carries 1 mark.

Questions number 17 to 20 (Part A) and Questions number 31 and 32 (Part B)
are short answer type questions. Each question carries 3 marks.

Questions number 21, 22 (Part A) and Question number 33 (Part B) are Long
answer type-I questions. Each question carries 4 marks.

Questions number 23 to 26 (Part A) and Question number 34 (Part B) are Long
answer type-II questions. Each question carries 6 marks.

There is no overall choice. However, an internal choice has been provided in few
questions in each of the parts.

PART A

(Accounting for Partnership Firms and Companies)
(a)  Atul, Beena and Sita were partners in a firm sharing profits and
losses in the ratio of 8:7:5. Damini was admitted as a new
partner for %th share in the profits which she acquired entirely

from Atul. The new profit sharing ratio after Damini’s admission

will be : 1
(A 7:7:5:1 B) 4:7:5:4
(C) 8:7:5:4 D) 7:5:8:4

OR

(b)  Rushil and Abheer were partners in a firm sharing profits and
losses in the ratio of 4 : 3. They admitted Sunil as a new partner
for %th share in the profits of firm, which he acquired %th share

from Rushil and %th share from Abheer. The new profit sharing

ratio of Rushil, Abheer and Sunil will be : 1
(A) 4:3:3 B) 2:1:3
CC) 2:2:3 D) 4:3:1
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2. WY, SINE AU =9 T BH H HIEIGR ¥ AT 5:3:2 % ITIIA H IHI R
faaTem td & | 9@ &I AW H T 95,000 T TRE & TS | 38 DR g3 (R
ol Sl 1 3THF qUT T S-SR 989 U1 | 31 A=, 2023 1 FHIG gL a9
o, BH 3 T 2,00,000 BT ATH A HIT | 319 gRT ARG I 3GHT TR H

% w9 H fﬁ Tr'ét i _&ﬁjﬁ :
(A) T 17,500 (B) T 35,000
(C) T 25,000 (D) < 10,000

3. 3o, THare qem Y U wH H ETEieR 9 | 31 HTE, 2023 i BH ol faEed &l
T | TSR 4 T 50,000 J&I oI & BrAlaR I 3T T 60,000 Hi TRT &
3T FeR & &9 4 T 45,000 § o foram | AW AR &1 PIaW 3% = g
fopam T | =k g AE < S areft ufdn gl
(A) ¥ 10,000 (B) ¥ 50,000
(C) T 45,000 (D) ¥ 15,000

4. TRE, TS99 qo1 A TH BH W HEGR 9 qAT AWM T faweH
S-S0 Hid ¥ | 36T ol sUsK & 9T & {970 U U 9i8ier o &9 ° Y99
femm o | e 319 Wit <t Ot qen @ana SR T @R | @t st 6
UNEEIRCEIEGRCRIRSIL I
(A)  TH AEeRi & o9 WA e |
(B) U HTEER % S ¢ 379d §

(C) U HTER o s= &1 ST{uTd |

(D) W HEeRl & o= =T 31U §

5. UddE, o9 T HiA Th BH H AEER ¥ AT 5:3:2 o IHIC H
gty i e 9 | 3R S R e e F w3 e o
TrEeR o w9 H g feam | ST Sraties oht @3 % fore wewd & g | yew
# fafsr W woem, 99 dw w@ Hw G, @ff GuEsE % weEn
HAS: T 1,20,000, T 80,000 AT T 1,00,000 ot | ST GRT A% g YSi hHI

Tt g
(A) T 175,000 (B) ¥ 60,000
(C) ¥ 65,000 (D) ¥ 70,000
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2. Abhay, Boris and Chetan were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. Boris was guaranteed a profit of ¥ 95,000. Any deficiency
on account of this was to be borne by Abhay and Chetan equally. The
firm earned a profit of ¥ 2,00,000 for the year ended 315t March, 2023.
The amount given by Abhay to Boris as guaranteed amount will be : 1
(A) < 17,500 (B) < 35,000
(C) < 25,000 (D) < 10,000

3. Aavya, Mitansh and Praveen were partners in a firm. On 315t March,
2023, the firm was dissolved. Creditors took over furniture of book value of
T 50,000 at T 45,000 in part settlement of their amount of ¥ 60,000. The

balance amount was paid to them through cheque. The amount paid

through cheque will be : 1
(A) T 10,000 (B) < 50,000
(C) < 45,000 (D) < 15,000

4, Piyush, Rajesh and Avinash were partners in a firm sharing profits and

losses equally. Shiva was admitted as a new partner for an equal share.
Shiva brought his share of capital and premium for goodwill in cash. The
premium for goodwill amount will be divided among : 1
(A) Old partners in old ratio

(B) New partners in new ratio

(C)  New partners in sacrificing ratio

(D)  OIld partners in sacrificing ratio

5. Alex, Benn and Cole were partners in a firm sharing profits and losses in
the ratio of 5 : 3 : 2. They admitted Dona as a new partner for %th share
in the future profits. Dona agreed to contribute proportionate capital. On
the date of admission, capitals of Alex, Benn and Cole after all

adjustments were ¥ 1,20,000; ¥ 80,000 and ¥ 1,00,000 respectively.

The amount of capital brought in by Dona will be : 1
(A) T 75,000 (B) < 60,000
(C) ¥ 65,000 (D) ¥ 70,000
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6.

HYHIT (A) : T FEER TG B % HF-a1 g 9t wEel & fow
FifireRat ot 8 |
FROU(R):  GRigRl AffRm i gRawr & FER, dEieil FedE gyt
el gy A1 gt oh AR @ I 4 e wh % g e S
HohdT & |
frafafiga § 9 9t fospeq =1 =94 Fifvw .
(A)  ANRYT (A) TUT SR (R) SHT TE 8, A HROT (R) Al (A)
e AR T 8 |
(B) SRR (A) 9T HRUT (R) 1 H&l @ 9T SR (R) MR (A)
TE AT 7 |
(C) 3T (A) HET &, ST HRUT (R) Teid 8 |
(D) ANHAA (A) Ted 8, AAfehd RO (R) T 8 |

HETleTigd Tl 1E9fd &1 9137 @or 398 &1 73 a7 & STYR | 597 &7 7 97
8 & I 19T :

T T Feitar g ¥ Raei o9 el T wH K Eer ff awm 2: 1%
I H Al 1 faweH I off | 1 o189, 2023 H Ik YS @I HA:
Z 5,00,000 9T T 10,00,000 % I &M @ o | BEH TA@ T 10% 116 T
O ISl WA ¢ B IEEE AT | BH F 99 % GRE T 90,000 T T ARG
fopam |

3T Wl TGT S aTeft IS o &1 <t Ui ghft e

(A) ¥ 50,000 (B) ¥ 1,00,000
(C) ¥ 60,000 (D) ¥ 30,000
TSIl T A9 H 9HT B

(A) ¥ 60,000 (B) ¥ 30,000
(C) Ps T& (D) ¥ 1,00,000

T fafies 3 30% Hftrm W T 10 I8 & 50,000 THAT 37901 /I=/ % fow
e A fhu | HEEf TR &1 YW 3eed W foham ST o |
2,50,000 31T/ o fu e wrd g | Rl 9 |t ARl H
U STMUR W 370 /I bl &fed w1 vl fon | st gro
o <ht TTE TR o :

(A) < 32,50,000 (B) < 15,60,000

(C) < 39,00,000 (D) < 26,00,000
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6. Assertion (A) : Each partner is a principal as well as an agent for all the
other partners.

Reason (R): As per the definition of Partnership Act, partnership
business may be carried on by all the partners or any of
them acting for all.

Choose the correct option from the following : 1

(A) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D)  Assertion (A) is incorrect, but Reason (R) is correct.

Read the following hypothetical situation and answer questions No. 7 and 8 on

the basis of the given information.

Abha and Babita were partners in a clay toy making firm sharing profits
in the ratio of 2 : 1. On 15t April, 2023, their capital accounts showed
balances of ¥ 5,00,000 and ¥ 10,00,000 respectively. The partnership
deed provides for interest on capital @ 10% p.a. The firm earned a profit
of T 90,000 during the year.

7. The amount of interest on capital allowed to Abha will be : 1
(A) T 50,000 (B) < 1,00,000
(C) < 60,000 (D) < 30,000

8. Babita’s share in profit will be : 1
(A) < 60,000 (B) < 30,000
(C) Nil (D) < 1,00,000

9. Alfa Ltd. invited applications for 50,000 equity shares of ¥ 10 each at a
premium of 30%. The whole amount was payable on application.
Applications were received for 2,50,000 shares. The company decided to
allot the shares on a pro-rata basis to all the applicants. The amount

refunded by the company was : 1
(A) T 32,50,000 (B) < 15,60,000
(C) < 39,00,000 (D) < 26,00,000
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10. ¥faad (fEa) oh, ISt 1 98 W 7, T8 haw At S dwmE
T o AR AT & ST Fehl |
(A) Tt (B)  wiht 7E /=t
(C) amTfaa (D) A9

11. S fafies 7 2 10 T8 & 25,000 Twar 3w/ frifya few | afst s

YA 7 SRR ¥ T o

PG W — T 49fd AAM/IW

3ATEET W — T 5Yfd IAW/IW

oW U AfqH I=AT W~ W
ST |l 3TN /AR 6 fU Sfegd W gu SR AEted s e T |
1500m/®aﬁaﬁ@ﬁwmm®wwﬁﬁmﬁﬁlw%
A &g 39 3 /IR T &1 (forfeit) X o= T | gom wa 2ifem I
1wl Tk | &l TS ot | ST/ TN (forfeit) % THA 3T/ Yt @I H
M feu S

(A) T 15,000 (B) ¥ 24,000
(C) ¥ 13,500 (D) ¥ 18,000
12.  3YHYT(A) : JETAE (M) FOGAT bl LR FOGAT & 99 & oft I
i

FRU(R): I 30 bR o UGS o AT gRI IUR 9T §6F o THINe
& fau oft 8 o= & ot ® | A RO HEE <A mwifta o
Teh dEiehlicTeh 3TTY o THIIT W MG 8id 3 |

fFrafafga § 9 g€t fospeq =1 994 Fifvw .

(A) AR (A) AT HROT (R) A1 T&l & qT RO (R) AR (A) H
g SITET ® |

(B) 3R (A) TUT HROT (R) ST TET &, AR SR (R) OTH (A) Fi
g = T |

(C) 3T (A) TIed &, Wik AU (R) Tl & |
(D) 3R (A) T ], aifehd SR (R) Terd ® |

13. (%) i /ratfan @ :Aftm gt ey, S8 araa ° fewent g
(A)  30m I @a H# 9m h S @
(B) 3100 Ir=HT WId § ST <hl ST 8
(C)  3791/3R Gt @rd | A1 H S 7
(D) 3797/3R G5t @rd | S I A 7
AAAT
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10.

11.

12.

13.
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Reserve capital is that part of capital which cannot be called
except at the time of winding up of the company.

(A) Issued (B) Called up

(C)  Uncalled (D) Nominal

Xeno Ltd. issued 25,000 equity shares of ¥ 10 each. The amount was
payable as follows :

On Application — T 4 per share
On Allotment — ¥ 5 per share
On First and Final call - Balance

All the shares offered were applied for and allotted. All the money due on
allotment was received except on 1,500 shares. These shares were
forfeited immediately after allotment. First and final call was not yet
made. At the time of forfeiture, Share Capital Account will be debited by :

(A) T 15,000 (B) T 24,000

(C) T 13,500 (D) ¥ 18,000

Assertion (A) : Irredeemable debentures are also known as perpetual
debentures.

Reason (R): The company does not give any undertaking for the

repayment of money borrowed by issuing such
debentures. They are repayable on the winding up of the
company or on the expiry of a long period.

Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

(C) Assertion (A) is incorrect, but Reason (R) is correct.

(D)  Assertion (A) is correct, but Reason (R) is incorrect.

(a) Money received in advance from shareholders before it is actually
called up by the directors is :

(A) debited to calls in advance account
(B) credited to calls in advance account
(C)  debited to share capital account
(D)  credited to share capital account

OR




(@)
14. (&)
(@)
15. (&)
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[ % TEAE AYAT Teh <A G ohl TAHAAT % HAMGH
Frer & foe we st ffa w93 <t ST o Sl et ST B
(A) 370 /3R T A B
(B) HHaT YSft fersheq A
(C) 730 /3 w1 el weme
(D) W i
T 100 T Tsh 31/, 59 W T 80 Id & TT &, T 20 i Ifew

FTHT TR T PTAE 7 i T E B 1 | 98 =Iad qod 9 W 3d
3791 /3R Wi GA:Fifaa fomam S et B, B

(A) < 120 (B) < 100
(C <80 D) <20
CRE

fira fafiee 3 T 10 9% & 500 A0 /IR T &0 R form, ™ =
T 7 9fd AW/ HT YA TR TR o7 | 39 ST /IR W T 9 Ul
3191 /3RR QUi Sea A fifa o feam man | ot g= @rd # ss=and
&I A arelt Tl gt

(A) T 3,000 (B) < 5,000

(C) T 4,500 (D) T 3,500

S, Teh qUT BEH U BH § HEER I 997 5: 3: 2 % FAAd H i
&1 I & 9 | 1 310d, 2023 € IR A9 ATH-FAWTSH 31U
2:3:5 H qREldd S 1 (U fofell | ATY-TawTSH 19 § aiEc oh
fafsr w = 90,000 =1 = =g or | E@EER 3 ol fon fe am
T Rl 1T A8l ST |

39 1 9T e W fore straves wmmEeE wfafe gl

£ | R I Al | S O
(%) (%)
(A) 3 w1 §f @ e 27,000
HEH & U @1d ° 27,000
B) 1 1 gl @ran T 90,000
HEH & U @1d ° 90,000
©) TEH hl ﬁsﬁ ECIK e 27,000
SER SRS 27,000
(D) B &I ﬁ'gﬁ Qrdl 9 90,000
SR cikeicks 90,000
AT
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(b)  An offer of securities or invitation to subscribe securities to a select
group of persons is termed as : 1
(A)  Buy back of shares
(B) Employee stock option plan
(C)  Private placement of shares
(D) Sweat Equity

14. (a) A share of ¥ 100 on which ¥ 80 is received is forfeited for
non-payment of final call of ¥ 20. The minimum price at which

this share can be reissued is : 1
(A) T 120 (B) < 100
(C) < 80 (D) <T 20

OR

(b)  Shiv Ltd. forfeited 500 shares of ¥ 10 each on which ¥ 7 per share
was paid. These shares were reissued for ¥ 9 per share fully paid.

Amount transferred to Capital Reserve Account will be : 1
(A) T 3,000 (B) < 5,000
(C) T 4,500 (D) < 3,500

15. (a) Dan, Elf and Furhan were partners in a firm sharing profits in the
ratio of 5: 3 : 2. With effect from 15! April, 2023, they decided to
change their profit sharing ratio to 2:3:5. There existed a
General Reserve of ¥ 90,000 on the date of change in profit
sharing ratio. The partners decided not to distribute General

Reserve.
The necessary adjustment entry to show the effect of the above will
be : 1
. Dr. Amount | Cr. Amount
Date | Particulars (2) ()
(A) Dan’s Capital A/c Dr. 27,000
To Furhan’s Capital A/c 27,000
(B) Dan’s Capital A/c Dr. 90,000
To Furhan’s Capital A/c 90,000
(©) Furhan’s Capital A/c Dr. 27,000
To Dan’s Capital A/c 27,000
(D) Furhan’s Capital A/c Dr. 90,000
To Dan’s Capital A/c 90,000

OR
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(@)

16. (&)

(@)
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e, 2t qen fofy e wH § @EER 9 dAm 3:2:1 % UG H
Al T fouST o 9 | 1 30, 2023 § 3= wios § ATH-gI o
oM 1:2:3 % o ® & w1 foi foen | 3w fafy o6 e
@ |# T 60,000 T A AT o7 |

ATH-ET @Td & A9 i sied o folu sreeaes UsHm=n yfafse grfl .

() (%)
(&) firam w1 st T @ | 30,000
T\ 1 Sl @ am 20,000
fafer =61 9ot @Ta qm 10,000
Y- @ | 60,000
(B) e =1 Sl @ qm 10,000
Ei e e CIRCI Gl T 20,000
fafer =61 4 @man T 30,000
Y- @ | 60,000
©) fon 1§t T T 20,000
fafer & 9t @d © 20,000
(D) fafer @1 oSt @ T 20,000
e = St @ | 20,000

3, oo @ afeft v wH | WEeR ¥ dur 3:2:1 % oW H
AT 1 Ta9TSH A 9 | sl Jaraa 8 T | Sl 6H e
% d1e IS a9 feean &1 T Av-fauTeH U 503 o1 | I HigieR
T U ST 1T

A 3:2 (B)
© 3:1 (D)
CRE

Hrar, S T AqA Th BH § GTEER 9 qAT 3:2:1 % I H
AT T fa9TSH d 9 | Iqa QaTfad 81 T 3R 3FehT Wit Hidr
T AT G 1:4 % AT H o o0 T | IAg9 s HETHG % 91g
Hidr Qe ST ST T ATH-fAHTSH STTITd B

(A 3:2 B 8:7
C) 17:3 D) 2:3
Page 12 of 39




16.

(b)

(a)

(b)

67/1/1-11

Sia, Tom and Vidhi were partners in a firm sharing profits in the
ratio of 3:2: 1. With effect from 15t April, 2023, they decided to

share profits and losses in the future in the ratio of 1: 2 : 3. There
existed a Debit Balance of ¥ 60,000 in Profit and Loss Account on

that date.
The necessary journal entry for distribution of the balance in the

Profit and Loss Account will be : 1
Date | Particulars Dr. %?rfl)ount Cr. ?{_{Il)ount
(&) Sia’s Capital A/c Dr. 30,000
Tom’s Capital A/c Dr. 20,000
Vidhi’s Capital A/c Dr. 10,000
To Profit and Loss A/c 60,000
(B) Sia’s Capital A/c Dr. 10,000
Tom’s Capital A/c Dr. 20,000
Vidhi’s Capital A/c Dr. 30,000
To Profit and Loss A/c 60,000
©) Sia’s Capital A/c Dr. 20,000
To Vidhi’s Capital A/c 20,000
(D) Vidhi’s Capital A/c Dr. 20,000
To Sia’s Capital A/c 20,000

Anju, Divya and Bobby were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Bobby retired. The new profit sharing
ratio between Anju and Divya after Bobby’s retirement was 5 : 3.

The gaining ratio of remaining partners will be : 1
A  3:2 B) 5:3
) 3:1 D) 2:3

OR

Mita, Veena and Atul were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Atul retired and his share was taken
over by Mita and Veena in the ratio of 1 : 4. The new profit sharing

ratio between Mita and Veena after Atul’s retirement will be : 1
A 3:2 B) 8:7
C) 17:3 D) 2:3
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17.

18.

19.

iR, 9t qen fau v ®H H Areiegr & 991 3:3:2 % U § Ary-giH
1 fowrsH d o | R Faried @ T | SR den SRt 9 wiosy §
AT 1 f9TSH 1: 2 % 3 H i 1 FHo fon | fern 1 danfaafa
% T ®H i wfa 1 qedmed T 5,40,000 TRam T

AT g I AT KT qen e S dartei | a1
(Tnfa Tt @ie fom1) o o fote staveres T afafse Hifse |

U qUT &t U BH § Argier off qun Sl @ ¢S T 2,50,000 off | wfieat
&6 I X 10% oY | fUse IR aui % oy e TR 9

=
2019 - 20 35,000
2020 -21 25,000
2021 - 22 32,000
2022 - 23 33,000

¥ 2022 — 23 % 3AfqH WT (W) H1 oAt T 5,000 Al foham T |
et T a9t & 30gd 1y & i a9 & I & YR W A 6 a6l

UM HIST |

(%) Ty fafiee 9 qoame A 8 T 4,80,000 % T80 I oI W
T 3,60,000 s uREmfwi dem T 1,00,000 % TGRS ITRRIEw
fFeT | 9 o9 o AW WEd §0Ed fafiee 4 T 100 Y% %
9% FOTIAT T 4% §g T TFTm T |
TIey fafiee & geael # STaweh Uskm=n gfafsear Hifse | o
¥ I TEAT ¥ WIsT |

Jrra

o

(@) 9@ fafes 9 tar fafes ¥ T 18,00,000 % HEHd % oI W
T 25,00,000 h afEERE d°T T 5,00,000 H SIATIA HT AfUET
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17. Aamir, Bashir and Chirag were partners in a firm sharing profits and
losses in the ratio of 3 : 3 : 2. Chirag retired. Aamir and Bashir decided to
share profits and losses in future in the ratio of 1:2. On the day of
Chirag’s retirement, goodwill of the firm was valued at ¥ 5,40,000.
Calculate gaining ratio and pass necessary journal entry to record the
treatment of goodwill (without opening goodwill account) on Chirag’s

retirement. 3

18. Pearl and Ruby were partners in a firm with a combined capital of
T 2,50,000. The normal rate of return was 10%. The profits of the last

four years were as follows :

=
2019 - 20 35,000
2020 -21 25,000
2021 - 22 32,000
2022 - 23 33,000

The closing stock for the year 2022 — 23 was overvalued by ¥ 5,000.

Calculate goodwill of the firm based on three years’ purchase of the last

four years’ average super profit. 3

19. (a) Sunrise Ltd. acquired assets of ¥ 3,60,000 and took over creditors
of ¥ 1,00,000 from Moonlight Ltd. for an agreed purchase
consideration of T 4,80,000. Sunrise Ltd. issued 9% Debentures of
T 100 each at a discount of 4% in satisfaction of the purchase
consideration.
Pass necessary journal entries in the books of Sunrise Ltd. Show
your workings clearly. 3

OR

(b)  Grapple Ltd. took over assets of ¥ 25,00,000 and liabilities of
T 5,00,000 from Allore Ltd. for an agreed purchase consideration
of ¥ 18,00,000. Grapple Ltd. issued 11% Debentures of ¥ 100 each
at 20% premium in satisfaction of the purchase consideration.

Pass necessary journal entries in the books of Grapple Ltd. Show

your workings clearly. 3
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20. (a) Mohan, Suhaan and Adit were partners in a firm sharing profits
and losses in the ratio of 3:2:1. Their fixed capitals were :
< 2,00,000, T 1,00,000 and ¥ 1,00,000 respectively. For the year
ended 315t March, 2023, interest on capital was credited to their
accounts @ 8% p.a. instead of 5% p.a.

Pass necessary adjusting journal entry. Show your workings clearly. 3
OR

(b)  Manoj and Nitin were partners in a firm sharing profits and losses
in the ratio of 2:1. On 315t March, 2023, the balances in their
capital accounts after making adjustments for profits and
drawings were < 90,000 and ¥ 80,000 respectively. The net profit
for the year ended 315t March, 2023 amounted to ¥ 30,000. During
the year Manoj withdrew ¥ 40,000 and Nitin withdrew ¥ 20,000.
Subsequently, it was noticed that Interest on Capital @ 10% p.a.
was not provided to the partners. Also Interest on Drawings to
Manoj ¥ 3,000 and to Nitin ¥ 2,000 was not charged.

Pass necessary adjusting journal entry. Show your workings clearly. 3

21. Shivalik Limited was registered with an authorized capital of
< 10,00,000 divided into equity shares of ¥ 10 each.
It offered 50,000 equity shares to the public. The amount was payable as

follows :
On Application — T 2 per share
On Allotment — < 6 per share
On First and Final call — Balance

The issue was fully subscribed. All the amounts were duly received
except the allotment and first and final call money on 4,000 equity
shares. These equity shares were forfeited.

Present the Share Capital in the Balance Sheet of the company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to
Accounts’ for the same. 4
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22. Archana, Vandana and Arti were partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. Their Balance Sheet on 315t March, 2023

was as follows :

Balance Sheet of Archana, Vandana and Arti as at 315t March, 2023

Liabilities Amount | cets Amount
Capitals : Investments 80,000
Archana 80,000 Plant 1,00,000
Vandana 70,000 Stock 40,000
Arti 60,000 | 2,10,000 | Debtors 50,000
General Reserve 30,000 | Cash at Bank 30,000

Creditors 60,000
3,00,000 3,00,000

The firm was dissolved on the above date.

(1) Assets were realised as follows :

Debtors — ¥ 40,000
Stock — ¥ 50,000
Plant - ¥ 60,000

(i1)

(iii)

25% of the Investments were taken over by Vandana at ¥ 18,000.
Remaining Investments were taken over by Archana at 10% less
than its book value.

Expenses of realisation ¥ 20,000 were paid by Arti.

Prepare Realisation Account.

23. Azhar, Sumit and Robit were partners in a firm sharing profits and
losses in the ratio of 3 : 1 : 1. Their Balance Sheet as at 315t March, 2023,
was as follows :

Balance Sheet of Azhar, Sumit and Robit as at 315t March, 2023
A A
Liabilities mOURE | Assets mount
Creditors 90,000 | Bank 20,000
General Reserve 60,000 | Stock 40,000
Capitals : Debtors 1,50,000
Azhar 60,000 Fixed Assets 60,000
Sumit 40,000
Robit 20,000 | 1,20,000
2,70,000 2,70,000
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Robit died on 30t June, 2023. According to the Partnership deed, Robit’s

legal representatives were entitled to :

(1)
(i1)
(iii)

(iv)

(v)

Prepare Robit’s Capital Account to be rendered to his legal representatives.

Balance in his Capital Account.
His share of General Reserve.
Interest on capital @ 10% p.a.

His share of goodwill. Goodwill of the firm was valued on the basis

of thrice the average of the past four years’ profits.

His share in profits up to the date of death on the basis of the
profit for the last year.

Profit for the previous years were :

=
2019 -20 (3,000)
2020 -21 28,000
2021 - 22 16,000
2022 - 23 15,000

24. On 15t April, 2022, Zubian Ltd. issued ¥ 10,00,000, 7% Debentures of

T 100 each at a premium of 6%, redeemable at a premium of 4% after

five years. The company had a balance of ¥ 30,000 in Securities Premium

Account.

(a)

(b)

67/1/1-11

Pass necessary journal entries for issue of debentures and for
writing off ‘Loss on Issue of Debentures’ utilising Securities

Premium Account at the end of the first year itself.

Prepare ‘Loss on Issue of Debentures Account’ for the year ended
315t March, 2023.

6
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25. (a)

(b)

67/1/1-11

Qumtan Ltd. invited applications for issuing 1,00,000 equity
shares of ¥ 10 each at a premium of ¥ 6 per share. The amount

was payable as follows :

On Application and Allotment — ¥ 8 per share

(including premium ¥ 3)

On First and Final call — Balance (including premium)
Applications for 1,60,000 shares were received. Applications for
10,000 shares were rejected and pro-rata allotment was made to
the remaining applicants. Excess money received on application
and allotment was returned. Dheeraj, who was allotted 200 shares,
failed to pay the first and final call money. His shares were
forfeited. All the forfeited shares were reissued at ¥ 5 per share

fully paid up.

Pass necessary journal entries in the books of Qumtan Ltd.

OR

Printkit Limited invited applications for issue of 80,000 equity

shares of ¥ 10 each. The amount was payable as follows :

On Application — T 3 per share
On Allotment — T 2 per share
On First and Final call - Balance

Applications for 1,50,000 shares were received. Applications for
10,000 shares were rejected and pro-rata allotment was made to
the remaining applicants on the following basis :
Category A — Applicants for 80,000 shares were allotted
40,000 shares.

Category B — Applicants for 60,000 shares were allotted
40,000 shares.

Excess money received on application was adjusted towards
amount due on allotment and first and final call. All the amounts
due on allotment and first and final call were duly received.

Pass necessary journal entries in the books of Printkit Limited.

6
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26. (a)

67/1/1-11

Shubhi and Revanshi were partners in a firm sharing profits

and losses in the ratio of 3:2. Their Balance Sheet as at
315t March, 2023 was as follows :

Balance Sheet of Shubhi and Revanshi as at 315t March, 2023

Liabilities Amount |, csets Amount
Capitals : Fixed Assets 90,000
Shubhi 60,000 Stock 38,000
Revanshi 32,000 | 92,000 | Debtors 30,000
General Reserve 30,000 | Cash 52,000

Bank Loan 18,000

Creditors 70,000
2,10,000 2,10,000

On 15t April, 2023 they admitted Pari into the partnership on the

following terms :

) Pari will bring ¥ 50,000 as her capital and ¥ 50,000 for her

share of premium for goodwill for ith share in the profits of

the firm.

(i1)  Fixed assets were depreciated @ 30%.

(111)  Stock was valued at T 45,000.

(iv) Bank loan was paid off.

(v)  After all adjustments capitals of Shubhi and Revanshi were

to be adjusted taking Pari’s capital as the base. Actual cash

was to be paid off or brought in by the old partners as the

case may be.

Prepare Revaluation Account and Partners’ Capital Accounts.

OR
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(b)  Rishi, Shashi and Trishi were partners in a firm sharing profits

and losses in proportion of %, %and 1 respectively. Their

Balance Sheet as at 315t March, 2023 was as follows :

Balance Sheet of Rishi, Shashi and Trishi as at 315t March, 2023

Liabilities Amount | cets Amount
Capitals : Fixed Assets 80,000
Rishi 36,000 Stock 20,000
Shashi 30,000 Debtors 30,000
Trishi 20,000 | 86,000 | Cash 40,000

General Reserve 30,000

Creditors 54,000
1,70,000 1,70,000

Shashi retired from the firm on 15t April, 2023 on the following

terms :

(1) Fixed Assets were valued at ¥ 56,000.
(i1)  Stock was taken over by Shashi at ¥ 26,000.

(i) Goodwill of the firm was valued at ¥ 18,000 on Shashi’s

retirement

(iv) Balance in Shashi’s Capital Account was transferred to her

loan account.

Prepare Revaluation Account and Partners’ Capital Accounts. 6
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PART B
OPTION -1
(Analysis of Financial Statements)

27. The Quick Ratio of a company is 1 : 2. Which of the following transactions

will result in an increase in this ratio ?
(A)  Cash received from debtors
(B)  Sold goods on credit
(C)  Purchased goods on credit
(D)  Purchased goods on cash
28. Identify which of the following transactions will result in ‘Cash Inflow
From Operating Activities’:
(A) Payment to creditors
(B) Interest received by a non-finance company
(C) Dividend received by a non-finance company
(D)  Amount received from debtors
29. (a) Analysis of Financial Statements is useful and significant to
different users. Which of the following users is particularly
interested in the firm’s ability to meet their claims over a very
short period of time ? 1
(A) Labour Unions (B) Trade Payables
(C) Top Management (D) Finance Manager
OR
(b) ratios are calculated to determine the ability of the
business to service its debt in the long run. 1
(A) Liquidity (B)  Turnover
(C)  Solvency (D)  Profitability
67/1/1-11 Page 29 of 39 P.T.O.
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30.

31.

32.

(a)  The transaction ‘Acquisition of machinery by issue of equity shares
of T 5,00,00,000’ will result in : 1

(A) Cash inflow of ¥ 5,00,00,000 from financing activities
(B)  Cash outflow of ¥ 5,00,00,000 from financing activities
(C)  Cash outflow of T 5,00,00,000 from investing activities
(D) No flow of cash

OR

(b)  The transaction ‘Capital Gains Tax paid on sale of fixed assets’ is
classified under which of the following : 1

(A)  Operating Activities

(B) Investing Activities

(C)  Financing Activities

(D) Cash and Cash Equivalents

Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of the company as per Schedule III Part I of the
Companies Act, 2013 : 3

(a) Long Term Loans from Bank
(b)  Loose Tools
(c) Outstanding Expenses

From the given information, calculate : 3
(a) Quick Ratio

(b) Inventory Turnover Ratio

. Amount
Particulars )
Current Assets 4,00,000
Inventory 1,00,000
Current Liabilities 2,00,000
Net Profit Before Tax 7,20,000
Revenue from Operations 10,00,000
Gross Profit Ratio 20%
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33. (a)

(b)

67/1/1-11

From the given Balance Sheet of Geox Ltd., prepare Common Size

Balance Sheet :

Balance Sheet of Geox Ltd. as at 315t March, 2023

Particulars Note | 31.3.2023 | 31.3.2022
No. < <
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 4,00,000 | 2,50,000
2. Non-Current Liabilities
(a) Long-term Borrowings 2,00,000 1,50,000
3. Current Liabilities
(a) Trade Payables 2,00,000 1,00,000
Total 8,00,000 | 5,00,000
II - Assets :
1. Non-Current Assets
(a) Fixed Assets/Property,
Plant and Equipment
and Intangible Assets 4,00,000 | 3,50,000
2. Current Assets
(a) Inventories 2,00,000 70,000
(b) Trade Receivables 2,00,000 80,000
Total 8,00,000 | 5,00,000
OR

From the following information, prepare a Comparative Statement
of Profit and Loss for the year ended 315t March, 2022 and 2023 :

Particulars Note | 2022 —23 2021 — 22

No. (%) (%)
Revenue from operations 10,00,000 8,00,000
Employee benefit expenses 2,50,000 1,00,000
Other expenses 5,50,000 4,00,000
Tax rate 50%

Page 33 of 39
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34, Trafefea gamn @ Serem nfafaft @ ke Yarg’ i ToMT HIfT
Ty
fee (%)
TRy« 7Tq ey-gTfA foreor &1 9 6,28,000
EZRSICRIE 1,50,000
EENELE RIS IELRGI SN 72,000
Rk SRER 1,40,000
e % faspar W aTy 30,000
et = fasher @ oy 20,000
et o e e 6,000
=Te] cFareTi # gfg 1,61,000
= aReeafEt | g 6,00,000
(Thg TF Uehs qod oh ATINTH)
1 cFare |t 64,000
3 T YT 1,18,000
N @
fopew - 11
(erfireRfers wraiA)
27. 3ihg, , , BTSN qT \RII Nehic d@iehd
& qfe = § |
freferfed & & SIliehlet i@ @ o SH-H g T 3T HYF § I & :
(A) Tt qen 7|
(B) &N e Hfshad
(C) #=k™ Tl |idiY (CPU)
(D) HIT 91 9id
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34. From the following information, calculate ‘Cash Flows From Operating

Activities’ :
A t
Particulars rr(lg)m
Surplus i.e. Balance in Statement
of Profit and Loss 6,28,000
Provision for Tax 1,50,000
Proposed Dividend for the previous year 72,000
Depreciation 1,40,000
Loss on Sale of Machinery 30,000
Gain on Sale of Investments 20,000
Dividend Received on Investments 6,000
Increase in Current Liabilities 1,61,000
Increase in Current Assets
(other than cash and cash equivalents) 6,00,000
Decrease in Current Liabilities 64,000
Income Tax Paid 1,18,000
PART B
OPTION -11
(Computerised Accounting)
27. Data, , , Hardware and Software are five pillars
of Computerised Accounting System (CAS).

From the following, which two pillars of CAS are missing in the above

statement :
(A) Printer and Mouse
(B)  People and Procedures
(C)  Mouse and CPU
(D) Information and Accounts
67/1/1-11 Page 35 of 39 P.T.O.
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28. (%)

TH @R F=F1 3Uad 1 919 Jqi5U, S Ushs i e T IaM qdn
SIS -eh hIY BEAT=UT § e Shidl B :

(A)  Tosra @ gt @rar 3uaA
(B) %h Td ¢ Wl 3
(C) Ueheg TH ofh IJuaA
(D) TTE 3UaH

Iroran
e Tofire &l @ Uhhia 31ihs! @l T & g) ° HEed L fodm S
7, O Ig HeATl 2 :
(A) Tl TRAT TeHAT
(B)  3fiehgl defiehtur
(C) HHE TshH
(D)  SRAYT TS Yo efeRTT

29. THHA e H TS 91 G AThgl ol feha] AT § Teifaa fopam S wehar
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(A)

©)
30. ()
67/1/1-11

4 B) 12

20 D) 7
FHigq fagar FHR

100 — 199 T3fered TRIT

200 — 299 qrsferar €

fafafigd § 9 v s S gRT ST | AT T g o YR
‘EﬁTﬁ'Q:

(A) &Alh DS

(B) 3T HIS

(C) +HI® HiE

(D) T IS
AAAT
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28. (a) Name the Accounting Information sub-system which deals with

receipt and payment of cash and electronic funds transfer : 1
(A) Sales and Accounts Receivable sub-system

(B)  Purchase and Accounts Payable sub-system

(C) Cash and Bank sub-system

(D)  Costing sub-system
OR

(b)  When the accumulated data from various sources is processed in
one shot it is called : 1

(A) Real time processing
(B) Data validation
(C)  Batch processing

(D)  Processing and revalidation

29. How many categories of data can be plotted on a pie chart in Excel

software ? 1
A 4 (B) 12
) 20 D) 7
30. (a) Codes Dealer Type
100 — 199 Cycle tyres
200 — 299 Cycle seats

From the following, identify the type of code used by a trading
company : 1

(A)  Block code
(B)  Sequential code
(C) Mnemonic code

(D) Secret code

OR

67/1/1-11 Page 37 of 39 P.T.O.
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31.

32.

33.

34.

(@)  EE #### TR BIT B
(A) & e qaTd &9 3 frega 7 B |
(B) < foreft T =t 3= & v fean S 7 |
(C) & Hod YT &l gIdl |
(D) 9 ATl & AN H YETE B & |

I1E o ThRI o €Y H A a1 Forwifed eHe’ wecraddl sl GHHATST |

SRl TR@TRA 7 1 foRwareti & &9 # ORERiAT qon =T @ g
ug T’ <l THTIT |
(%) AR QTR a3 % fohral IR ATl ol Ieai@ iU |

AT

(@) Afiepler Th@Tehd aF i geedT fomivaredi & &9 § 9Ees e qudn
‘3TTehST 3Teh&TUT sl THETST |

‘GHTT (Lookup) 1 & ATe-fa=d 41 sl FHATST |
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31.

32.

33.

34.

(b)  Correct ##### appears :
(A)  When column is not wide enough.
(B) When a number is divided by zero.
(C)  When value is not available.

(D) When there are exceptions of summary of data.

Explain the terms ‘Doughnut’ and ‘Exploded Doughnut’ as types of

charts.

Explain ‘Transparency and Control’ and ‘Accuracy and Speed’ as features

of Computerised Accounting System.

(a)  State any four advantages of Computerised Accounting System.

OR

(b)  Explain ‘Password security’ and ‘Data audit’ as security features of

Computerised Accounting System.

Explain the two syntax forms of ‘Lookup’ function.
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STRICTLY CONFIDENTIAL: (FOR INTERNAL AND RESTRICTED USE ONLY)
SENIOR SECONDARY SCHOOL EXAMINATION 2024
MARKING SCHEME - ACCOUNTANCY (SUBJECT CODE—055)
(PAPER CODE—67/1/1)

General Instructions: -

1

10
11

12

13

You are aware that evaluation is the most important process in the actual and correct assessment of the

candidates. A small mistake in evaluation may lead to serious problems which may affect the future of the

candidates, education system and teaching profession. To avoid mistakes, it is requested that before starting

evaluation, you must read and understand the spot evaluation guidelines carefully

“Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations

conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could lead to

derailment of the examination system and affect the life and future of millions of candidates. Sharing this

policy/document to anyone, publishing in any magazine and printing in News Paper/Website etc may

invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done according

to one’s own interpretation or any other consideration. Marking Scheme should be strictly adhered to and

religiously followed. However, while evaluating, answers which are based on latest information or

knowledge and/or are innovative, they may be assessed for their correctness otherwise and due marks be

awarded to them.

The Marking scheme carries only suggested value points for the answers.These are in the nature of Guidelines

only and do not constitute the complete answer. The students can have their own expression and if the expression

is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first day,

to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. If there is

any variation, the same should be zero after deliberation and discussion. The remaining answer books meant for

evaluation shall be given only after ensuring that there is no significant variation in the marking of individual

evaluators

Evaluators will mark( \' ) wherever answer is correct. For wrong answer CROSS X” be marked. Evaluators

will not put right (V)while evaluating which gives an impression that answer is correct and no marks are

awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for different

parts of the question should then be totalled up and written in the left-hand margin and encircled. This may be

followed strictly

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This may

also be followed strictly

If a student has attempted an extra question, answer of the question deserving more marks should be retained

and the other answer scored out with a note “Extra Question”.

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

A full scale of 80marks as given in Question Paper has to be used. Please do not hesitate to award full marks if

the answer deserves it.

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and evaluate

20 answer books per day in main subjects and 25 answer books per day in other subjects (Details are given in

Spot Guidelines)

Ensure that you do not make the following common types of errors committed by the Examiner in the past:-
Leaving answer or part thereof unassessed in an answer book.

e Leaving answer or part thereof unassessed in an answer book.
e Wrong totaling of marks awarded on an answer.
e  Wrong transfer of marks from the inside pages of the answer book to the title page.

1
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15

16

17

18

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and clearly
indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as cross
(X) and awarded zero (0) marks

Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the candidate

shall damage the prestige of all the personnel engaged in the evaluation work as also of the Board. Hence, in
order to uphold the prestige of all concerned, it is again reiterated that the instructions be followed meticulously
and judiciously.

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot Evaluation”
before starting the actual evaluation.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page, correctly
totaled and written in figures and words.

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the prescribed
processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again reminded that they
must ensure that evaluation is carried out strictly as per value points for each answer as given in the Marking
Scheme.



MARKING SCHEME
Senior Secondary School Examination, 2024
ACCOUNTANCY [ Paper Code — 67/1/1]

. No. Marks
Q EXPECTED ANSWER /VALUE POINTS
PART A
(Accounting for Partnership Firms and Companies)
1. Q. Atul, Beena and Sita were partners in a firm....
Ans. (B) 4:7:5:4 1 mark
OR
OR
Q. Rushil and Abheer were partners in a firm....
1 mark
Ans. (C) 2:2:3
2. Q. Abhay, Boris and Chetan were partners in a firm....
Ans. (A) 217,500 1 mark
3. Q. Aavya, Mitansh and Praveen were partners in a firm.
Ans. (D) 215,000 1 mark
4. Q. Piyush, Rajesh and Avinash were partners in a firm...
Ans. (D) Old partners in sacrificing ratio 1 mark
5. Q. Alex, Benn and Cole were partners in a firm...
Ans. (A) 375,000 1 mark
6. Q. Assertion(A): Each partner is a principal....
Ans. (B) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct explanation of
Assertion (A). 1 mark
Read the following....................coeeee
7. Q. The amount of interest on capital...
Ans. (D) 330,000 1 mark
8. Q. Babita’s share in profit....
1 mark




Ans. (C) Nil

9. | Q. Alfa Ltd. invited applications for....

Ans. (D) 226,00,000 1 mark
10. Q. Reserve capital is that part...

Ans. (C) Uncalled 1 mark
11. Q. Xeno Ltd. issued 25,000 equity shares....

Ans. (C) 13,500 1 mark
12. Q. Assertion (A): Irredeemable debentures are also known as...

Ans. (A) Both Assertion (A) and Reason (R) are correct and reason (R) is the correct explanation of

Assertion (A). 1 mark
13. Q.(a) Money received in advance from shareholders. ..

Ans. (B) Credited to calls in advance account I mark

OR
OR

(b) An offer of securities or invitation....

Ans (C) Private placement of shares 1 mark
14. Q. (2) A share of 100 on which 80 is received....

Ans. (D) 220 1 mark

OR
OR
(b) Shiv Ltd. forfeited 500 shares of 10 each....
Ans. (A) 3,000 1 mark




15.

Q. (a) Dan, Elf and Furhan were partners in a firm....

Ans.
Date | Particulars Dr. Amount Cr. Amount
3 3
Q) Q) 1 mark
© Furhan’s Capital A/c Dr. 27,000
To Dan’s Capital A/c 27,000
OR OR
(b) Sia, Tom and Vidhi were partners in a firm....
Ans.
Date | Particulars Dr. Amount Cr. Amount
Q) Q)
(A) Sia’s Capital A/c Dr. 30,000
Tom’s Capital A/c Dr. 20,000
Vidhi’s Capital A/c Dr. 10,000
To Profit & Loss A/c 60,000 1 mark
16. Q. (a) Anju, Divya and Bobby were partners in a firm....
Ans. (C) 3:1 1 mark
OR
OR
Q. (b) Mita, Veena and Atul were partners in a firm....
Ans. (B) 8:7 1 mark
17. Q. Aamir, Bashir and Chirag were partners in a firm...
Ans.
Gain = New share — Old Share y
Aamir’s Gain= /3 -3 = _1/24 (sacrifice) (%)
Bashir’s Gain = 2/3- 3/8 = 7/24 (gain) (%)




In the books of Aamir, Bashir and Chirag

JOURNAL
2
Date Particulars L.F. Dr. Amount Cr. Amount 2)
Q) Q)
Bashir’s Capital A/c Dr. 1,57,500 —
To Aamir’s Capital A/c 22,500 marks
To Chirag’s Capital A/c 1,35,000
(Goodwill treated on Chirag’s
retirement without opening
Goodwill account)
18. Q. Pearl and Ruby were partners in a firm....
Ans.
Calculation of Normal Adjusted Profit
Year Profit }) Adjustment () Adjusted Profit (%)
2019-20 35,000 - 35,000
2020-21 25,000 - 25,000
2021-22 32,000 - 32,000
2022-23 33,000 (5,000) 28,000
TOTAL 1.20,000
Average Profit= (Total Adjusted Profit)/ No. of years
=1,20,000/4 =1330,000 (1)
Normal Profit= Capital Employed x Normal Rate of Return
100
=2,50,000 x 10 =325,000 (4)
100
Super Profit = Average Profit — Normal Profit
= 30,000 - 25,000 = 5,000 (72)
Goodwill= Super Profit x No. of years’ purchase (1)
=5,000x 3 =1315,000
marks
19. Q. (a) Sunrise Ltd. acquired assets of 33,60,000.....

Ans.




In the books of Sunrise Ltd.

JOURNAL
Date Particulars L.F Dr. Amount Cr. Amount
] ]
Sundry Assets A/c Dr. 3,60,000
Goodwill A/c Dr. 2,20,000
To Creditors A/c 1,00,000
To Moonlight Ltd. 4,80,000
(Assets acquired and liabilities taken over
from Moonlight Ltd)
Moonlight Ltd. Dr. 4,80,000
Discount on Issue of
Debentures A/c Dr. 20,000
To 9% Debentures A/c 5,00,000
(Purchase consideration settled by issuing
5,000 9% debentures at 4% discount)
Working Note:
No. of debentures = (Purchase Consideration) / Issue Price
=4,80,000/ 96
= 5,000
OR
(b) Q. Grapple Ltd. took over assets of 325,00,000.....
Ans. In the books of Grapple Ltd.
JOURNAL
Date Particulars L.F. Dr. Amount Cr. Amount
] ]
Sundry Assets A/c Dr. 25,00,000
To Liabilities A/c 5,00,000
To Allore Ltd. 18,00,000
To Capital Reserve A/c 2,00,000
(Assets acquired and liabilities taken
over from Allore Ltd.)
Allore Ltd. Dr. 18,00,000
To 11% Debentures A/c 15,00,000
To Securities Premium A/c 3,00,000

(17%)

(1)

(172

marks

OR

(17%)

(1)




(Purchase consideration settled by
issuing 15,000 11% debentures at
20% premium)

Working Note: (2)
No. of debentures = (Purchase Consideration) / Issue Price
= 18,00,000/ 120 N
marks
= 15,000
20. Q. (a) Mohan, Suhaan and Adit were partners in a firm....
Ans Solution:
In the Books of Mohan, Suhaan and Adit
JOURNAL
Date Particulars LF. | Dr. Cr.
Amount Amount
® ®
Adit’s Current A/c Dr. 1,000
To Suhaan’s Current A/c 1,000 (1)
(Adjustment entry for Interest on Capital credited at
a higher rate)
Working Notes:
Statement of Adjustment
Particulars Mohan Suhaan Adit
4 4 4 2
Interest on capital to be debited (6,000) (3,000) (3,000)
Profit to be credited now (12,000 in 3:2:1) 6,000 4,000 2,000 B
Adjustment - 1,000 (1,000) marks
Cr. Dr.
(NOTE: Full credit be given if working notes are prepared in any other form)
OR

OR

(b) Q. Manoj and Nitin were partners in a firm....




Ans. In the Books of Manoj and Nitin

JOURNAL
Date Particulars LF. | Dr Cr.
Amount Amount
® ®
Manoj’s Capital A/c Dr. 2,000 (1)
To Nitin’s Capital A/c 2,000
(Adjustment entry for omission of Interest on
Capital and Interest on Drawings)
Working Notes:
Calculation of Opening Capital
Particulars Manoj Nitin
£ £
Closing Capital 90,000 80,000
Add: Drawings 40,000 20,000 (2)
Less: Profit (230,000 in 2:1) (20,000) (10,000)
Opening Capital 1,10,000 90,000
Statement of Adjustment
Particulars Manoj Nitin
£ £
Amount to be credited
Interest on Capital 11,000 9,000
Less: Interest on Drawings (3,000) (2,000)
8,000 7,000 (1%)
Amount to be debited now (15,000 in 2:1) (10,000) (5,000)
Adjustment (2,000) 2,000
Dr Cr —
(NOTE: Full credit be given if working notes are prepared in any other form) marks
21. Q. Shivalik Ltd. was registered with an authorised capital....
Ans. Shivalik Ltd.
BALANCE SHEET (extract)
Asat......
Particulars Note Amount
No. ®)
I Equity and Liabilities
1. Sharcholders’ Funds
(a) Share Capital 1 4,68,000 )




Notes to Accounts:

Particulars Amount
%
1. Share Capital
Authorised Capital
1,00,000 equity shares of 10 each 10,00,000 (1)
Issued Capital
50,000 equity shares of 10 each 5,00,000 (1)
Subscribed Capital
Subscribed & fully paid-up
46,000 equity shares of *10 each 4,60,000
Add: Share Forfeiture A/c 8,000 1
4.68.000 _
marks
22. Q. Archana, Vandana and Arti were partners in a firm....
Ans.
Dr Realisation A/c Cr
Particulars Amount Particulars Amount
i i
To Investments A/c 80,000 By Creditors A/c (%2) 60,000
To Plant A/c 1,00,000
To Stock ) 40,000 By Bank A/c 2
To Debtors A/c 50,000 Debtors 40,000
Stock 50,000
To Bank %) 60,000 Plant 60,000 1,50,000
To Arti’s Capital A/lc (%) 20,000
By Vandana’s capital A/c (%2) 18,000
By Archana’s capital A/c  (Y%) 54,000
By Loss transferred to Partners’
Capital A/c: ()
Archana 34,000
Vandana 20,400
Arti 13.600 68,000 =
3,50,000 3,50,000 marks
23. Q. Azhar, Sumit and Robit were partners in a firm....

10




Ans.

Dr. Robit’s Capital A/c Cr.
Particulars Amount Particulars Amount
% %
To Robit’s Executor’s A/c / Legal 41,650 | By Bal b/d 20,000
Representatives Alc  (2) By General Reserve A/c 12,000
By Interest on Capital A/c 500
By Azhar’s Capital A/c 6,300
By Sumit’s Capital A/c 2,100
By P&L Suspense A/c 750
41,650 41,650

Working Notes:

(i) Goodwill = 3 x 56,000 = 42,000

4

Robit’s Share in firm’s Goodwill = 42,000 x 1/5 = 8,400

Gaining ratio between Azhar and Sumit = 3:1

(i1) Robit’s Share in the Profit upto the date of death = 15,000 x 1/5 x 3/12
=750
NOTE: No marks to be awarded for the working note .

(72)
@)
@)
@)
@)
@)

marks

11




24.

.on 1% April, 2022, Zubian Ltd. issued....
p

Ans. (a) Books of Zubian Ltd.
JOURNAL
Date Particulars L.F | Dr. Amount | Cr. Amount
R®) R®)
2022 6]
Apr1 Bank A/c Dr. 10,60,000
To Debenture Application & 10,60,000
Allotment A/c
(Application money received on 10,000, 7%
Debentures)
Apr1 (i)
Debenture Application &
Allotment A/C DI'. 10,60,000
Loss on issue of Issue of
Debentures A/c Dr. 40.000
To 7% Debentures A/c 10.00.000
To Securities Premium A/c 60.000
To Premium on Redemption of 40.000
Debentures A/c
(Debentures issued at 6% premium,
redeemable at 4% premium on redemption)
iii
2023 (it o )
Securities Premium A/c Dr.
Mar 31 40,000
To Loss on Issue of Debentures A/c
) ] 40,000
(Loss on issue of debentures written off)
(b)
Dr Loss on Issue of Debentures A/c Cr
Date Particulars Amount Date Particulars Amount
4 4
1.4.22 | To Premium on 40,000 31.3.23 By Securities 40,000
Redemption of Premium A/c
Debentures A/c
40,000 40,000

@)

(@)

@)

)

marks

12




25.

Q. (a) Qumtan Ltd. invited applications....

Ans. In the Books of Qumtan Ltd.
JOURNAL
Date | Particulars L.F | Dr. Cr. Amount
Amount ®)
]
®
Bank A/c Dr. 12,80,000
To Equity Share Application and 12,80,000
Allotment A/c
(Application and allotment money received on
1,60,000 shares)
(i)
Equity Share Application and
Allotment A/c Dr. 12,80,000
To Equity Share Capital A/c 5.00.000
To Securities Premium A/c 3.00.000
To Bank A/c 4,80,000
(Application money transferred to Share Capital
and Securities Premium; excess amount returned)
V)
Equity Share First & Final Call A/c Dr.
] ) 8,00,000
To Equity Share Capital A/c
.. . 5,00,000
To Securities Premium A/c
. . 3,00,000
(Share First & Final Call money due)
(vi)
Bank A/c Dr.
] 7,98,400
Calls- in- Arrears A/c Dr. 1,600
To Equity Share First & Final Call A/c ’
. 8,00,000
(Share first and final call money received except
on 200 shares)
Alternatively
Bank A/c Dr. 7,98,400
To Equity Share First & Final Call A/c 7,98,400
(Share first and final call money received except
on 200 shares)
(vii)
Equity Share Capital A/c Dr. 2,000
Securities Premium A/c Dr. 600
To Calls- in- Arrears A/c 1,600
To Share Forfeiture A/c 1,000

1x6

13




(200 equity shares forfeited for non-payment of
first and final call)

Alternatively
Equity Share Capital A/c Dr. 2.000
Securities Premium A/c Dr. 600
To Equity Share First and Final Call A/c 1.600
To Share Forfeiture A/c 1.000
(200 equity shares forfeited for non-payment of
first and final call)
viii
(viid) 1,000
Bank A/c Dr.
i 1,000
Share Forfeiture A/c Dr.
. . 2,000
To Equity Share Capital A/c
(200 forfeited shares reissued)
OR
(b) Printkit Limited invited applications.....
Ans
In the books of Printkit Limited
JOURNAL
Date Particulars LF | Dr. Amount | Cr. Amount
Q) Q)
(i)
Bank A/c Dr. 4,50,000
To Equity Share Application A/c 4,50,000
(Application money received on 1,50,000shares)
(i)
Equity Share Application A/c Dr. 4,50,000
To Equity Share Capital A/c 2,40,000
To Equity Share Allotment A/c 1,40,000
To Calls-in- Advance A/c 40,000
To Bank A/c 30,000
(Application money transferred to Share Capital
and excess amount adjusted to Share Allotment
A/c and calls-in-advance; application money on
10,000 shares refunded)
(iii)
Equity Share Allotment A/c Dr. 1,60,000
1,60,000

To Equity Share Capital A/c
(Allotment money due on 80,000 shares)

marks

OR

(72)

(1'2)

@)

14




(iv)

Bank A/c Dr. 20,000
To Equity Share Allotment A/c 20,000 1)
(Allotment money received after adjusting
excess application money)
V)
Equity Share First & Final Call A/c Dr. 4,00,000
To Equity Share Capital A/c 4,00,000 (1)
(Share First & Final Call money due)
(vi)
Bank A/c Dr. 3,60,000
Calls- in- Advance A/c Dr. 40.000
To Equity Share First & Final Call A/c , 4.00.000 (1)
(Share first and final call money received after o
adjusting calls- in- advance)
marks
26. Q. (2) Shubhi and Revanshi were partners in a firm....
Ans.
Dr. REVALUATION A/c Cr.
Particulars Amount Particulars Amount
% %
To Fixed Assets A/c Z 27,000 By Stock A/c Z 7,000
By Loss transferred to
Partners Capital A/c: |4 (1%)
Shubhi- 12,000 20,000
Revanshi- 8,000
27,000 27,000
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Dr. PARTNERS’ CAPITAL A/c Cr.
Particulars Shubhi Revanshi | Pari Particulars Shubhi Revanshi | Pari
Ed Ed Ed Ed Ed Ed
To Revaluation | 12,000 8,000 By Bal b/d 60,000 32,000
Ale
To Cash A/c 6.000 By General 18.000 12.000
2 R A/ 2 2
To Bal ¢/d 90,000 | 60,000 | 50,000 [f7
By Cash A/c 50,000
7}
By Premium
for Goodwill 30,000 20,000
Alc
]la/ Cash A/c 4,000
Y
1,08,000 | 68,000 50,000 1,08,000 | 68,000 50,000
OR
(b)Rishi, Shashi and Trishi were partners in a firm....
Dr. REVALUATION A/c Cr.
Particulars Amount Particulars Amount
T T
To Fixed Assets A/c 24,000 | By Stock A/c Vs 6,000
By Loss transferred to
Partners Capital A/c: |4
Rishi- 9,000
Shashi- 3,000 18,000
Trishi- 6,000
24,000 24,000
Dr. PARTNERS’ CAPITAL A/c Cr.
Particulars Rishi Shashi | Trishi Particulars Rishi Shashi | Trishi
Ed Ed Ed Ed Ed Ed
To Revaluation 9,000 3,000 6,000 By Bal b/d 14 | 36,000 | 30,000 | 20,000
Ale By General
To Stock A/c ' 26.000 Reserve A/c Z 15.000 5.000 10,000
To Shashi’s 1,800 1,200 By Rishi’s Capital
Capital A/c Z Alc 1.800
To Shashi’s Loan By Trishi’s Capital ,
Ae 9,000 Ale
To Bal ¢/d V] 40,200 22,800 1,200
51,000 | 38,000 | 30,000 51,000 | 38,000 | 30,000

(47)

marks

OR

(17%)

(4 %)

marks
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PART B
OPTION -1

(Analysis of Financial statements)

27. Q. The quick ratio of a company is .....
1 mark
Ans. (B) Sold goods on credit
28. Q. Identify which of the following transactions....
Ans. (D) Amount received from debtors 1 mark
29. Q. (a) Analysis of Financial Statements is useful...
Ans. (B) Trade Payables 1 mark
OR
OR
(b) ratios are calculated to determine.....
1 mark
Ans. (C) Solvency
30. Q. (a) The transaction ‘Acquisition of machinery......
Ans. (D) No flow of cash 1 mark
OR OR
(b)The transaction ‘ Capital Gains tax....
Ans. (B) Investing Activities 1 mark
31. Q. Classify the following items under major heads....
Ans.
Item Major Heads Sub heads
el . % mark
(a) Long Term Loans Non —Current Liabilities Long Term Borrowings each
from Bank
(b) Loose Tools Current Assets Inventories =3
(c) Outstanding Current Liabilities Other Current Liabilities marks
Expenses
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Q. From the given information, calculate .....

Ans.
(a) Quick Ratio= Quick Assets
Current Liabilities

Quick assets = Current Assets — Inventory

=4,00,000 — 1,00,000

=%3,00,000 !
Quick Ratio = 3,00,000 = 1.5:1 2!

2,00,000 (17%)

(b) Inventory Turnover Ratio = Cost of Revenue from Operations

Average Inventory

Cost of Revenue from Operation = Revenue from Operations — Gross Profit
= 10,00,000 — 2,00,000

=%8,00,000
Inventory Turnover Ratio = 8,00,000 = 8 times 2 (17%)
1,00,000
marks
Q. (a) From the given Balance Sheet of Geox Ltd., .........
Ans. Geox Ltd
Common size Balance Sheet
As at March 31, 2022 and March 31, 2023
Particulars Absolute Amounts Percentage of Total Assets
31.3.2022 31.3.2023 31.3.2022 31.3.2023
Q) Q) (%) (%)
I - Equity and Liabilities:
1. Shareholders’ Funds
(a) Share Capital 2,50,000 4,00,000 50 50 (%)
2. Non- Current Liabilities
(a) Long Term Borrowings 1,50,000 2,00,000 30 25 (%)
3. Current Liabilities
(a) Trade Payables 1,00,000 2,00,000 20 25 (72)
TOTAL 5,00,000 8,00,000 100 100 (2)
IT — Assets:
1. Non — Current Assets
(a) Fixed Assets/Property, Plant
and Equipment and Intangible
Assets
3,50,000 4,00,000 70 50 (%)
2. Current Assets
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(a) Inventories 70,000 2,00,000 14 25

(b) Trade Receivables 80,000 2,00,000 16 25

TOTAL 5,00,000 8,00,000 100 100
OR

(b)Q. From the following information, prepare a Comparative Statement of Profit and Loss...

Ans. Comparative Statement of Profit & Loss
For the year ended March 31, 2023
Particulars 2021-22 2022-23 Absolute Percentage
® ®) Increase or Increase or
Decrease (3) Decrease(%)
I Revenue from Operations 8,00,000 10,00,000 2,00,000 25
IT Less: Expenses
Employee Benefit Expenses 1,00,000 2,50,000 1,50,000 150
Other Expenses 4,00,000 5,50,000 1,50,000 37.5
111 Profit before Tax 3,00,000 2,00,000 (1,00,000) (33.3)
IV Less: Tax @ 50% 1,50,000 1,00,000 (50,000) (33.3)
V Profit after Tax 1,50,000 1,00,000 (50,000) (33.3)

(%)
(%)
(%)

marks

OR

(%)

(%)
(%)

(D
(%)
@)

marks
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34.

Q. From the following information....

Ans.
Cash Flows from Operating Activities
Particulars Details Amount
] i
Net Profit before Tax and Extraordinary items 8,50,000
Adjustments for Non- Cash and Non- operating items
Add: Depreciation y
Loss on Sale of Machinery 1,40,000 (1 )
: 30,000 (72)
Less: Gain on Sale of Investments .
Dividend Received on Investment (2:0’000); )
.lVl end Received on .nves mc.an s 6.000 (4)
Operating profit before Working Capital changes 9.94,000
Add: Increase in Current Liabilities
Less: Increase in Current Assets 1,61,000 (2)
Decrease in Current Liabilities (6,00,000) (2)
Cash generated from operations 64.000 (2)
Less: Income Tax paid 4,91,000
1
Net cash inflows from Operating Activities (1.18.000) (%2)
3,73,000 ()
Calculation of Net Profit before Tax and Extraordinary items
Surplus = 6,28,000 1)
+ Provision for Tax = 1,50,000
+ Proposed Dividend = _ 72,000 =
8,50,000 marks
PART B
OPTION -11
(Computerised Accounting)
27. Q. Data, , , Hardware.....
Ans. (B) People and Procedures 1 mark
28. Q. (a) Name the Accounting information sub-system.....
Ans. (C) Cash and Bank sub-system I mark
OR
OR
(b)When the accumulated data from......
Ans. ( C) Batch processing 1 mark
29.

Q. How many categories of data...
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Ans. (D) 7

1 mark

30. Q. (a) From the following, identify...
1 mark
Ans. (A) Block code
OR
OR
(b)Correct ##### appears....
1 mark
Ans. (A) When column is not wide enough
31. Q. Explain the terms ‘ Doughnut’ and ‘Exploded Doughnut’ as types of charts.
Ans. (a2) Doughnut Chart:
1
It displays data in rings where each ring represents a data series. It is like pie-chart. 1% x2
It shows the relationship of parts to a whole, but it can contain more than one. These charts are not
easy to read.
(b) Exploded Doughnut: 3
Much like exploded pie chart, exploded doughnut display the contribution of each value to a total -
. LR . . marks
while emphasising individual values but they can contain more than one data series.
32. Q. Explain ‘Transparency and Control’ and ‘Accuracy and Speed’ as features of Computerised
Accounting System.
Ans.
(a) Transparency and Control:
CAS provides sufficient time to plan, increase data accessibility and enhances user satisfaction. With
computerised accounting, the organisation will have greater transparency for day-to- day business 1)
operations and access to vital information. This will make feedback and decision making timely,
hence, better control over the processes can be established.
(b) Accuracy and Speed:
CAS provides user definable templates (data entry screen or forms) for fast, accurate data entry of the
transactions. It not only makes data entry fast but also provides checks to check its accuracy from (1%)
time to time.at the same time, the facility of generating desired documents and reports is also there.
3 marks
33. Q. (a) State any four advantages of Computerised Accounting System.
Ans. Advantages of CAS (any four):
(1) Timely generation of reports and information in desired format
(ii) Efficient record keeping 1 x4
X
(iii) Ensures effective control over the system
(iv) Economy in the processing of accounting data
(v) Confidentiality of data is maintained =
(vi) Transparency in recording of data helps in avoiding frauds marks

21




(vii) Better control can be established

(viii) Accuracy in data makes the reports reliable

OR

(b)Explain ‘Password security’ and ‘Data audit’ as security features of computerised accounting
system.

Ans. Password Security:

Password security is a mechanism, which enables a user to access a system including data. The
system facilitates defining the user rights according to organisation policy. Consequently, a person in
the organisation may be given access to a particular set of data while he may be denied access to
another set of data.

Password is the key (Code) to allow the access to the system

Data Audit:

This feature enables one to know as to who and what changes have been made in the original data,
thereby helping and fixing the responsibility of the person who has manipulated the data and also
answers data integrity. Basically, this feature is similar to Audit Trail.

OR

)

)

marks

34.

Q. Explain the two syntax forms of ‘Lookup’ function.

Ans. The ‘LOOKUP’ function has two syntax forms:
(i) Vector

This ‘LOOKUP’ form looks in a one row or one column range for a value and then returns a value
from the same position in a second one row or one column range. The syntax is LOOKUP ( lookup-
value, lookup-vector, result-vector)

¢ LOOKUP-Value is a value that LOOKUP searches for in the first vector. It can be a
number, text, a logical number, name, etc.

e LOOKUP- Vector is a range that contains only one row or one column. The value in
LOOKUP- Vector can be text, numbers or logical values.

e Result- Vector is range that contains only one row or column. It must be the same size
as LOOKUP- Vector.

(i1) Array
It looks in the first row or column of an array for the specified value, and then returns a value from
the same position in the last row or column of the array. The syntax is

e LOOKUP (lookup- value-array)

e LOOKUP- Value cannot find the lookup-value, it uses largest value in the array
that is less than or equal to lookup-value.

e Iflookup-value is smaller than the smallest value in the first row or column, it
returns the #N/A error values.

e  Array is the range of cells that contains text, numbers or logical values that we
want to compare with lookup-values.

3x2

marks
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